77

F view
FIFE / Product Number
AUX - -
H~Ti& W=tk D~Ti&

H dimension W dimension D dimension

BT =HhJ)LT—74 / Technical Datall
##{+tJLY / Recommended torque : 0.3N=m ~ 0.6N*m

A

TILZE

Aluminium Feet

EFE X4L¥ / Original trapezoid head screw specification

EX (P /H)

Screw (P or H)

@ = |

itk

Color Type

HEHNZ / Components

No. & %5 / Part name #= / Pcs #ME / Material & - REAWIE / Color-Finish
: a—+—JBvYy 4 TILEF A1 Fv X ADC12 DInN—, TSy B (REERLE)
Corner block Diecast aluminium ADC12 Silver , Black+Painted (Unfinished inside)
) RI#R 4 TILEHRHH A6063S-T5 DW= TSV TILIAND T HE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
s HN— : 7ILSHR A1100P DIVIN—, TS99 TILIA
Top cover Aluminium A1100P Silver , Black*Anodized
4 TH/N— 1 7IL2HR A1100P DIIN—, TS99 T ILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
: FILZE A T & YA L DIN— TSV TIRA & TF9Y
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 IRAFER (M3 x 8) 16 % ST AYE
Screw (Flat head M3 - 8) Steel Nickel plated
7 BER (EFM3 x 5) 16 % ZyrLAyE | ZlE/AA—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
g BTER (/N1 FM4 x 8) 4 # ZfRoair—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

E’ 752X / Phillips 758 / Hexagon-socket
£ 1t%k / Color Type
i85 / Code a—+—7J0v% / Corner block {84 / Frame $178— / Top cover | FH/3— / Bottom cover | ZILZR / Aluminium feet
S S < )LsN— / Silver < )LsS— / Silver < JL/N— / Silver < )LsN— / Silver < )Ls3— / Silver
S B 75979 / Black < )LsS— / Silver < )LiN— / Silver < )LsS— / Silver < )LsS— / Silver
B X 7594 / Black 7594 / Black < )LiN— / Silver < )LsS— / Silver < )LsS— / Silver
B B 759% / Black 75v9% / Black 75v% / Black 75974 / Black 75974 / Black

2
4/ Title
TAKACHI| %A RHtEhFEHIE ZLEavkO—LRYS R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
7 2%/ Approved 18X /Checked #[X]/Created FIF /Product number RE/Scale
iR x A AUX177-50-43A-C01 sy
{ERL B /Date 2024/09/27 1/ 6

AREDEFIEIHXSHINTFEMITEIZIREELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




422

B view

D view E view C view F view

B-B(1:65) B —
t
H
|

" i

o
1

430+0.8
—
!
|
|
|
|
|
|
|
|
|
|
|
|
:
.

>
>

155 B —

C-C(1:65)

10“
°
DR

o

A view
C C

Lo

o

T 4 .

~ [ee] o

~ ™

o

°©

A-A(1:65) @;Eg’
453
o
~
4/ Title A —
TAKACHI| HXSHINFERIE FILIAUrO—ILRYS R O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
492 = RE/Scale
7&K R/ Approved #% X/ Checked #I[X]/Created FIE /Product number
1:6.5
thig ES GRS AUX177-50-43A0-0010 —
~N— /Page
1ERK B /Date 2024/06/19 2 /6
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A I / A Frame
450

176

“
ﬁ

5 2-M3FH SR
2-M3 Countersunk

¥ xImE+E R4k / Same on the other side.
M / Front side

B {l#k / B Frame

M / Front side

169.7

22.5

3.3

3.3

E M / Back side

ZE | / Back side

a4/ Title
TAKACHI| Bt ahFERTE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
i3/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:3.5
iR E: B —
H177 — W500 1ERK B /Date 2024/05/15 3 /6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

380 22.5

(L

o ~

— ©

3

=

<

* = o)

5 5

M / Front side

2-M3FAHIR
2-M3 Countersunk

¥ ximEEFE4Hk / Same on the other side.

D {8I#% / D Frame

[
B2

M / Front side

3.3

3.3

ZE@ / Back side

%M / Back side

a4/ Title
TAKACHI| BXESH4DhFERIE B4R () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7&K R/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR : B R e
H177 — D430 1ERK B /Date 2024/05/15 4 / 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
S 8
; <t

M@ / Front side

489.4

470

B#TiE / Max dim. 453+0.8

8-24.5

E#~ti% / Max dim. 383+05

2
/o PAN
REES—IAY
Surface protective film side
& <
ZEm / Back side
4/ Title A —
. A .
TAKACHI| HASHINFEKIE FN— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
=0 = Te : RE/Scale
£%/Approved t&X/Checked #I[X]/Created FIE /Product number
1:4.5
iR £ FHt R—/Page
W500 - D430 {ERL B /Date 2022/11/16 5 / 6
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
s g =
T %5

M / Front side

489.4

470

4414

Bxh~ti% / Max dim. 453+0.8

8—24.5

H¥~ti% / Max dim. 383+0.5

4-M4

fREES—HA

Surface protective film side

ZEm / Back side

a4/ Title
TAKACHI| HASHINFEKIE THhiN— @) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:45
hif : Bt e
W500 - D430 1ERk B /Date 2022/11/16 6 / 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	
	Sheets and Views
	Model





